A series  of comments,  From: https://www.zerohedge.com/geopolitical/quest-multipolar-economic-world-order
And, I'm guessing, with lots of help from Michael Hudson himself!!
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Sound of the Suburbs
4 hours ago
The rentier class need a new economics.
 

Mankind first started to produce a surplus with early agriculture.
It wasn’t long before the elites learnt how to read the skies, the sun and the stars, to predict the coming seasons to the amazed masses and collect tribute.

They soon made the most of the opportunity and removed themselves from any hard work to concentrate on “spiritual matters”, i.e. any hocus-pocus they could come up with to elevate them from the masses, e.g. rituals, fertility rights, offering to the gods …. etc and to turn the initially small tributes, into extracting all the surplus created by the hard work of the rest.

The elites became the representatives of the gods and they were responsible for the bounty of the earth and the harvests.

As long as all the surplus was handed over, all would be well.

 

The class structure emerges.
Upper class – Do as little as they can get away with and get most of the rewards

Middle class – Administrative/managerial class who have enough to live a comfortable life

Working class – Do the work, and live a basic subsistence existence where they get enough to stay alive and breed

 

Their techniques have got more sophisticated over time, but this is the underlying idea.
They have achieved an inversion, and got most of the rewards going to those that don’t really do anything.

As soon as anyone started thinking about this seriously, the upper class were in trouble.

Everything had been going well until the classical economists turned up.

 

Adam Smith
“All for ourselves, and nothing for other people seems, in every age of the world, to have been the vile maxim of the masters of mankind.”
“The labour and time of the poor is in civilised countries sacrificed to the maintaining of the rich in ease and luxury. The Landlord is maintained in idleness and luxury by the labour of his tenants. The moneyed man is supported by his extractions from the industrious merchant and the needy who are obliged to support him in ease by a return for the use of his money.”
 

Ricardo
“The interest of the landlords is always opposed to the interest of every other class in the community”
In Ricardo’s world there were three classes.

From Ricardo:

The labourers had before   25
The landlords                     25
And the capitalists             50
..........                               100
He looked at how the pie got divided between the three groups.

 

Disposable income = wages – (taxes + the cost of living)
Employees get their money from wages and the employers pay the cost of living through wages, reducing profit.

Employees get less disposable income after the landlords rent has gone.

Employers have to cover the landlord’s rents in wages reducing profit.

Ricardo is just talking about housing costs, employees all rented in those days.

Low housing costs work best for employers and employees.
 

Things weren’t looking too clever.
The classical economists had identified the parasitic rentiers at the top of society.

The old hocus pocus stuff had been good enough in the past. but now they needed something that looked like economics.

They needed a new economics, neoclassical economics.

 

The early neoclassical economists hid the problems of rentier activity in the economy by removing the difference between “earned” and “unearned” income and they conflated “land” with “capital”.
They took the focus off the cost of living that had been so important to the Classical Economists as this is where rentier activity in the economy shows up.

They needed to confuse making money with creating wealth so all rich people looked good.

 

Neoclassical economics hides the fact that employees get their money from wages, so it is the employers that are paying via wages.
Put this in and, as Ricardo knew, housing costs and the cost of living should be low.

 

Everyone pays their own way.
Employees get their money from wages.

The employer pays the way for all their employees in wages.

Off-shore from the West ASAP to maximise profit.

 

Do you really want to pay the US cost of living in wages?
There are plenty of other countries to choose from.
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Sound of the Suburbs
4 hours ago
 (Edited)
It’s in classical economics.
It’s in Keynesian economics.
It’s not in neoclassical economics.
 

Everyone that uses neoclassical economics trips up over the “cost of living” including the Chinese.
Disposable income = wages – (taxes + the cost of living)

Taxes and the cost of living sum together in the same brackets, so it shouldn’t be hard, but today’s policymakers don’t have the equation.

Neoclassical economics hides the other term in the brackets with taxes.
 

Disposable income = wages – (taxes + the cost of living)
A high cost of living pushes up wages and reduces profit.

US firms are forced to off-shore to maximise profit.

They can pay wages elsewhere people couldn’t live on in the US.

 

We got some stuff from Ricardo, like the law of comparative advantage.
What’s gone missing?

 

Ricardo was part of the new capitalist class, and the old landowning class were a huge problem with their rents that had to be paid both directly and through wages.
“The interest of the landlords is always opposed to the interest of every other class in the community” Ricardo 1815 / Classical Economist

What does our man on free trade, Ricardo, mean?

 

Disposable income = wages – (taxes + the cost of living)
Employees get their money from wages and the employers pay the cost of living through wages, reducing profit.

Employees get less disposable income after the landlords rent has gone.

Employers have to cover the landlord’s rents in wages reducing profit.

Ricardo is just talking about housing costs, employees all rented in those days.

Low housing costs work best for employers and employees.
 

What was Keynes really doing?
Creating a low cost, internationally competitive economy.

 

Keynes's ideas were a solution to the problems of the Great Depression, but we forgot why he did, what he did.
They tried running an economy on debt in the 1920s.

The 1920s roared with debt based consumption and speculation until it all tipped over into the debt deflation of the Great Depression. No one realised the problems that were building up in the economy as they used an economics that doesn’t look at private debt, neoclassical economics.

Keynes looked at the problems of the debt based economy and came up with redistribution through taxation to keep the system running in a sustainable way and he dealt with the inherent inequality capitalism produced.

 

The cost of living = housing costs + healthcare costs + student loan costs + food + other costs of living

Disposable income = wages – (taxes + the cost of living)

 

Strong progressive taxation funded a low cost economy with subsidised housing, healthcare, education and other services to give more disposable income on lower wages.
Employers and employees both win with a low cost of living.

 

Keynesian ideas went wrong in the 1970s and everyone had forgotten the problems of neoclassical economics that he originally solved.
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Sound of the Suburbs
4 hours ago
China had all the advantages.
Maximising profit is all about reducing costs.

Western companies couldn’t wait to off-shore to low cost China, where they could make higher profits.

China had a low cost of living so employers could pay low wages.

China had low taxes and a minimal welfare state.

China had coal fired power stations to provide cheap energy.

China had lax regulations reducing environmental and health and safety costs.

China had all the advantages in an open globalised world.

It did have, but now China has become more expensive and developed Eastern economies are off-shoring to places like Vietnam, Bangladesh and the Philippines.

 

“We did try and reduce costs here, and we did loads of cost cutting, but we could never get down to Chinese levels. To maximise profit, we had to off-shore” the Western business community
Now they tell us!
They also gave away decades of Western design and development knowledge in technology transfer agreements.

Some nitwit said the only thing that mattered was profit.

 

Western experts ramble on about productivity as the balance of power shifts from West to East.
Machines do most of the work.

Turn the dial to max. and that’s as fast as they go.

Put the machines in China to maximise profit.
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Sound of the Suburbs
4 hours ago
Oh yeah, we were thinking about Adam Smith’s pin factory where people do nearly all the work.
Things haven’t been like that for centuries, never mind.
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Sound of the Suburbs
5 hours ago
Thirty years ago.
The Berlin Wall had fallen and a uni-polar world was born.

The US reigned supreme.

China was insignificant and Russia was moving towards the West with Gorbachev.

 

How on earth did the Americans mess up so badly?
They called it the “Washington Consensus”, they didn’t think it through.
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Sound of the Suburbs
5 hours ago
They really did screw up big time, didn't they?
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Five_Black_Eyes_Intel_Agency
5 hours ago
Yep....the Berlin Wall fell, the end of history was declared, the unipolar moment lasted as long as my hard-on, and now they're back to panic mode and cold war knee jerky jerky.

Facing reality is not their strong suite. [(Blinded by the natural bounty left by dead Native Americans and Truman's two strokes of American Exceptionalism!)]
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Sound of the Suburbs
2 hours ago
 (Edited)
What could possibly go wrong for the Chinese?
They are using neoclassical economics and are making all the usual mistakes.

 

Neoclassical economics was the economics of the roaring 20s, the Wall Street Crash and the Great Depression.
Sooner or later policymakers try and drive their economy into a Great Depression.

 

What’s wrong with neoclassical economics?
1. It makes you think you are creating wealth by inflating asset prices

2. Bank credit flows into inflating asset prices, debt rises faster than GDP and you eventually get a financial crisis.

3. No one notices the private debt building up in the economy as neoclassical economics doesn’t consider debt.

 

At 25.30 mins you can see the super imposed private debt-to-GDP ratios.
https://www.youtube.com/watch?v=vAStZJCKmbU&list=PLmtuEaMvhDZZQLxg24CAiFgZYldtoCR-R&index=6
No one realises the problems that are building up in the economy as they use an economics that doesn’t look at debt, neoclassical economics.

As you head towards the financial crisis, the economy booms due to the money creation of bank loans, as it did in the 1920s in the US.

https://www.bankofengland.co.uk/-/media/boe/files/quarterly-bulletin/2014/money-creation-in-the-modern-economy.pdf
The financial crisis appears to come out of a clear blue sky when you use an economics that doesn’t consider debt, like neoclassical economics, as it did in 1929.

1929 – US

1991 – Japan

2008 – US, UK and Euro-zone

The PBoC saw the Chinese Minsky Moment coming and you can too by looking at the chart above.

The Chinese were lucky; it was very late in the day.

The Chinese had done the same thing as everyone else, but worked out what the problem was before the financial crisis.

 

One economics, one ideology.
Global groupthink.

Everyone makes the same mistakes.

Global policymakers have all been rendered completely clueless with neoclassical economics and tried to drive their economies into Great Depressions, but the Chinese worked out what was going wrong before the financial crisis.

 

Davos 2018 – The Chinese know financial crises come from the private debt-to-GDP ratio and inflated asset prices
https://www.youtube.com/watch?v=1WOs6S0VrlA
The black swan flies in under our policymakers’ radar.

They are looking at public debt and consumer price inflation, while the problems are developing in private debt and asset price inflation.

The PBoC knew how to spot a Minsky Moment coming, unlike the FED, BoE, ECB and BoJ.

 

A year later, and they had made further progress.
Davos 2019 – The Chinese know bank lending needs to be directed into areas that grow the economy and that their earlier stimulus went into the wrong places.

https://www.youtube.com/watch?v=MNBcIFu-_V0
They had pumped bank credit into areas that don’t grow GDP, and the private debt-to-GDP had risen to a level they were on the verge of a financial crisis.

Everyone does that with neoclassical economics, but they don’t usually see the financial crisis coming, like the US in 1929, Japan 1991 and US, UK and Euro-zone in 2008.

 

The Chinese did work it out, but very late in the day so their economy is loaded up with private debt like everyone else.
They can’t use the debt fuelled growth model they have been using since 2008 (the economic growth model of the US in the 1920s).

They have got a real estate ponzi scheme going, and as Max Keiser says “you can’t taper a ponzi scheme”. If they pull the plug on the ponzi scheme, it will collapse and feed back into the financial system.

The Chinese loved the easy money of capital gains from property (doesn’t everyone?) and many are heavily invested in property.

If they pull the plug on the real estate ponzi scheme, there will be widespread civil unrest.

 

Even when you work out what’s wrong, you’re still screwed as the Chinese have discovered.
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Sound of the Suburbs
2 hours ago
 (Edited)
The one good thing about bringing back neoclassical economics.
We know what led to Wall Street Crash in 1929.

The same mistakes have been repeated globally.

 

Maybe "good" isn't quite the right word.
 

The Davos crowd are making copious notes as they had no idea what was going on.
They do use neoclassical economics, so they never really stood a chance.

They were as clueless as our policymakers.
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Sound of the Suburbs
2 hours ago
 (Edited)
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Is that why the central bankers keep pumping liquidity into the markets?
Yes.

They have to keep all the ponzi schemes of inflated asset prices going, if they collapse this will feed back into the financial system.

Once you've made the mistakes of neoclassical economics, you're locked in.
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